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Solving Method 1 (most transferable) Method 2 (actually undo PEMDAS)
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Solving
Combining
Like Terms
Equations

When like terms are on the same side, Comb n e and S n,pl Lfy the
expression first. Then start solving for the _va Ciable with inverse

operations:
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1.2 Solving Multi-Step Equations
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Solving ™ Dishebole and get rid of Qaren¥heses

Complex 2" Combineany like Ytems

Equations 3" Tsebale €X with inverse operations
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Writing and Ex. Jenny wants to buy a shirt that Ex, Agardenhasa length 2inches longer than
costs $24.98. There was a discount — | three times the width. The Perimetér is 36 inches.
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Solving Multi- | - " shirt is $19.50. How What is the width and length of the garden? —
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